NAEARFE Vv i—

g TV ys—

(BEsx =

Bl:oL=o51

ALy VA= —FRPIEKE T Ry AT
D BREVE (F5MTED

242 ke RO &
UrvA—iRy Y AHE=1T5 67
L= (Bl o
[=2]
7 2
N 1 1 e o
@UEIVYryhT \! 7/
2. / \
o)iﬁl:l § ‘r | ] —
e (Y o | | itll
o0 \
=2 \ = /"/ NG100Y | ([ 7HT R
\\\ ‘ 4 (VIR v R —DEE)
g .
Y = H
e =
ol % ¥ o @5 KELR
s = b
| 1] N #
P !
e Loy 182
% HIED DO v R I i
,,\ M J&
2 BImmA T J & M
i3 ] L] )
i (il
| =
X M P by 7 = T | L
L = — 5 o : i
i Bl 8= S 28]
e [ - e
o P 4 o 3 —H5
- 91.8 o = E%
K@ 130 67 EEE ™ LI
v
= NN
yvi—w |38.5 50
QUEILL N YA—DBE @NEHYE =
Yrya—Ry ) A=Y vy 4w+ v BE—Ry I Rig= v v —w+98
41 56 vrys-=tuisikaiEl-1 4| 45 TryB—w=4 v 5 ZIEMN—52 45 |4
17 1123 33 72.5 17 123 22 AC100V, 7—2 22 23| 17
(WEIVYY YV E—DIFE)
N
— — =
— ——H
[ ” 1 — H fﬁ,—w W—H%:E H N] X u
I 1l o
- — IF | B IJ
| ﬁ i IS
— Nl
AC100V, 7—2 125 o 125 f—iﬁ ;é
4 Yy o 2 iEMN *® L O o | E
N Lo | N7
smvy Gl 4 - E’F
=) R
o |
4 =7 T b %=
: = 1
Crrrrn B —————
%,
| |
| 1
N
128 | 128
57.5 |20 REREETEwW 20/ 57.5




